
Page 1 of 14 

RLRM Rubber Ladder Mount
    Important:  Please read these instructions carefully prior to installation.
                    Please refer to your fi tting instruction to ensure that the Roof Rack System is installed in the   
  correct location.
           Check the contents of kit before commencing fi tment and report any discrepancies.
  Place these instructions in the vehicle’s glove box after installation is complete.

1.  Check Part No./Kit is correct
3.  Fit roof rack accessory

2.  Read through instruction before installing
4.  Check and recheck all fasteners are secure

Parts List: 
Item Components Qty Part No.

1 M8 x 25mm Hex Bolt 4 B101

2 M8 x 35 Hex Bolt 2 B102

3 M8 Spring Washer 2 W019

4 M8 x 17mm Flat Washer 6 W020

5 M8 Channel Nut 2 N003

6 M8 Nyloc Nut 4 N028

7 Flexible Crossbar Mount Top Plate 2 CA1583

8 Multi-slide Flexible Crossbar Mount 2 M826

9 Flexible Crossbar Mount Bottom Plate 2 CA1582

10 Flexible Crossbar Mount Oval Plate 4 CA1581

11 Instructions 1 R1083

Tools Required:
1. 13mm Socket Wrench.

1.

Note:
For use with the Rhino Multi-slide & CSL Kits. Kits are sold as separate.

2.

3.
4.

Instructions

5.
6.

8. 7.

10.

9.

10.

1 Assemble the Rubber Mounts as shown. Finger tighten 
only at this stage.

2.

3.

4.

1.

1.

8.
10.

9.

6.

5.

4.

10.

6.

4.
7.

2 Slide the Rubber Mount 
Assembly into either side of 
the front of the side of the 
Slide Ladder Rack. Do not 
tighten in place at this stage.

Side View: The M8 x 
25mm Hex Bolts will slide 
into the Slide Ladder Rack 
Extrusion as shown.

M8 x 25mm Hex 
Bolt.

Side View: The M8 x 
25mm Hex Bolts will slide 
into the CSL Ladder Rack 
Extrusion as shown.

rodr
Small Controlled



Page 2 of 2

RLRM Rubber Ladder Mount

3 Place the Ladder Rack onto the Roof Racks. Use the Locking Tabs to secure the rear and middle of the Rack to the Cross-
bars as per the Slide Ladder Rack instructions. Install the front of the Rack to the vehicles front Crossbar as shown below.

Place the installed Rubber Mounts into the 
front Crossbar. Angle the Channel Nut so that 
it will sit inside the Crossbar.

Side View: The Ladder Rack 
must sit on the Rubber Strip 
in the Crossbar.

Rubber Strip 
must be 
installed to 
sit under the 
Ladder Rack 
at the front of 
the vehicle.

Rubber Strip.
Crossbar.

Slide Ladder Rack. Rubber 
Mount.

Note: 
Locking 
Tabs are 
not used 
on the 
inside of 
the front 
Crossbar. 

Fix the Ladder Rack to the rear and middle 
Crossbar as per Slide Ladder Rack 
instructions.

4
Be sure the Channel Nut is located correctly across the 
Crossbar. Tighten with a 13mm Socket Wrench.

5
Tighten the Rubber Mount to the Slide Ladder with a 
13mm Socket Wrench. Be sure all fi xtures on the Rack 
System are secure before use.

Rhino-Rack
3 Pike Street, Rydalmere,   Document No: R1083 Fit Time: 15min
NSW 2116, Australia.  Prepared By: Kayle Everett Issue No: 01
(Ph) (02) 9638 4744    Authorised By: Chris Murty Issue Date: 19/07/16
(Fax) (02) 9638 4822
These instructions remain the property of Rhino-Rack Australia Pty. Ltd. and may not be used or changed for any other purpose than intended.


